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1. (10 43) R TFHZ AT A

x> —6x*+ 15x — 14;
2. (15 43) 3K A B2 ERHEEL AR N B4 [ B
; B
2 1 2],

2 2 1

A:

3. (15 77) RAMEREHTTIER T RIS 7 R AR

X1-2X + 3x3-4x, = 4,
Xp- X3+ X4= =3
X1+ 3x; + x,= 1,
—7x;+3x3+ x,= -3.

4. (10 43) HIMTT 5 M BHR B LS

a; = (1,3,5, 4,0), a=(1,3,2,-2,1),
a3=(1’_2:13_1:_1), ad=(1:_4,1:1,—1);
5. (10 43) K
1 0 1
-1 1 1
Z =L 1
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Y= koYo + kiya + = + ks,

. (20 4¥) iF BH{G £ 5% 4% (Vandermonde)4T 51| &,

Hefky + kg + = + kg =1.
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IA| = a-l a.2 N o me [Ti<j<isn(ai-ay),
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HHR [1 BERALS. FRAGWEBRIay, ay, ..., an3X n NMAEFR
AHRERIZE
arq(1<j<is<n),

RIBIRENERER. RAESHE, B
l—[ (ai'aj) = (az-a;)(az-a;)(as-ay) ... (an-ay)

1sj<isn
X(az-a;)(as-a3) ... (ap-a;)
X(a4-asz) ... (an-asz)
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X(an-an.1)-
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9. (204) WA REIK LK n M HFE. UEHH:
()F A%=1, N
r(A+]) + r(A-I) = n;
Q)% A’=A, N
r(A) + r(A-I) =n.

10.(10 77) i A BEUE K E— A n B kg, A* = 0.3E8H:

(I-A)T=1+A+ A% + -+ A1,
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